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MDQ/J-21 5597
CORPORATE TAX PLANNING AND
MANAGEMENT
MC-402

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of remaining seven
questions.
dy ikp i'ut d mlkj nift, A i'u B[k 1 viuok;
g Ak e 1'uk e 1 pkj 1'u dift, A

1. Attempt the following questions in brief :

(a) Explain Tax Evasion and Tax Planning.

(b) What are different forms of Business Organisation ?

(c) Explain Inter-corporate Dividends.

(d) What is meant by Backward areas ?

(e) Explain Operating Lease.

(f) State conditions of valid amalgamation. 6x4=24

furufyf[kr i'uk d I{ki e mlkj nhft,

(V) dj&p Vi djé&;ktuk dh O;k[k dife, A

(c) 0;kij IxBu d fofHlu Lozi D;k g \

(1) bvjdkiky vk dh 03[k dife, A

() fiNv {1 wvii D3t lesr g \
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(b) ViijVx yit (ifiptyu i&) ok o.u dift, 4
(1) o/ L;ktu dh "r crib, A
2. Explain the deduction in respect of profits and ganis from

Infrastructure development undertaking u/s 80IA. 14

/tjk 801A d rgr v/l jpuk fodkl T yiHk rFk ikflr;k d
Ic/ e dVirh dk o.lu dift, A

3. What is Minimum Alternate Tax (MAT) ? Explain the
procedure of calculating Book Profits. 14
U;ure odfYid dj (MAT) D;k g \ ilrd yiHk dh x.kuk
1%fr dk o.fu dift, A

4. X Ltd. earned income from the following sources for the
year ended on 31st March, 2020 :

3
(a) Cement Production profit 7,50,000
(b) Dividend from Indian Company 80,000
(c) Dividend from a Foreign Company 20,000
(d) Interest on Central Govt. Securities 10,000
(¢) Short-term Capital Gain 50,000
() Long-term Capital Gain 97,000

The company donated ¥ 1,75,000 by cheque on 28th
February, 2020 to PM Drought Releif Fund. The capital
of the company is ¥ 20 Lakh and dividend distributed to
Shareholde @10% on 30th September, 2019. Company
has paid ¥ 1,50,000 as Advance Tax.

Compute Tax liability of the company. 14
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31 elp, 2020 dk leflr giu oty o' d fy, futufyf[ir
T 1 X fy- dh vitr wvik; futu idkj g %

3
(v) IheV miuknu 1 i 7,50,000
(c) Hkjrh; dEiun 1 yiHKE 80,000
(1) fon'fh dEiuh T yiHK' 20,000
(n) dinh; Bjdijh afrHdr;k 1y C;ht 10,000
(b)) wvYidly i1th yiH 50,000
(1) nkdky 1th yiHk 97,000

deiuh u i/ elh jigr dik di 28 ifjojt] 2020 di pd
Hik % 1,75,000 dk nku fn;k A dEiun dh 1th % 20 yi[k g
rik 30 flrEcj] 2019 dk 10% dh nj 1 v'¥/jdk di
Yk forfjr fd;k x;k A dEiut u % 1,50,000 vixe dj d
d i e Hxriu fd, A
deiuh d djénif;Ro dh x.uk dift, A

5. Explain the planning provisions regarding Capital Structure
and Bonus Shares. 14
it Ijpuk rfk cul vk d Ic/ e djéfu;ktu tko/huk
dk o.tu dift, A

6. The following information is given by a company :
(a) Profit before depreciation I 2,00,000
(b) W.D.V. of assets ¥ 1,00,000
(c) Rate Depreciation 15%
(d) Rate of Taxation 26%
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(e) Asset purchased for Scientific Research cost
% 1,00,000. The amount is fully deductible u/s 35.

(f) The asset is short-term capital asset and it is sold
for (i) ¥ 80,000 (ii) ¥ 1,50,000.

You are required to suggest from tax planning point of

view to suggest whether the asset should be sold without

using it for business purpose or after use for business

purpose. 14

,d dEiut Hjk futufyf[kr Bpuk, nh xb g %

(v) Bkl 1 1gy yiH % 2,00,000

(c) [Eiflk;k dk W.D.V. % 1,00,000

() BRI nj 15%

() dji/u dh nj 26%

(b) oKifud vulZu d fy, [k xb Eiflk dh yixr
21,00,000 g A Zujkfk 1.k =1 1 Zkjk 35 d rgr
MMu K g A

G0 MGl vYidiytu it IR g rRik bl Gi) 2 80,000
(i) ¥ 1,50,000 e cp fn;k A

viidk djé&fu;ktu gr I>ko nuk g fd D;k 0;lolif;d

mnn®; d fy, bld fcuk 1;kx fd, g, VvHok 0;kolif;d

mn*; d fy, i;ix d cin IEiflk di cpk tuk pifg, A
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7. Explain the tax incentives available to amalgamated
company. 14
letefyr dtiut d fy, miy(/ dj 1lRbiguk dh O;k[ ;¥
dift, A

8. Discuss the tax provisions relating to Special Economic

Zones (SEZs). 14
fo'l'k vigFkd {kk (SEzs) d Ic/ e dj fu;ktuk dk o.lu
dnft, A
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